臺北巿立大學
103學年度第一學期學士班二、三年級轉學生招生考試試題
系    別：資訊科學系（三年級）
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科    目：計算機概論（含程式設計）
考試時間：90分鐘【8:20-9:50】
總    分：100分
· 注意：不必抄題，作答時請將試題題號及答案依照順序寫在答卷上；限用藍色或黑色筆作答，使用其他顏色或鉛筆作答者，所考科目以零分計算。（於本試題紙上作答者，不予計分。）
一、選擇題（每題2分，共50分）
1.What’s the output of Java language?

public class Precedence {

public static void main(String[] args) {

int x = 2, y = 1;

int a = x + y - 2/2; 

System.out.println("a = " + a);} }

(A) a=3　　　(B) a=2
　(C) a=1.5 
(D) a=1 

2.What’s the output when you attempt to compile and run the following 

  Java code?

public static void main(String argv[]){

                Utaipei cs = new Utaipei();

                int i =3; 

                i = i++;

                System.out.println(i);

        
}}

(A)3
 　　(B) 2
　　　(C) 4
　　　
(D) null 

3. What’s the output when you attempt to compile and run the following 

  Java code?

public class Utaipei{

private int i;

public static void main(String argv[]){

                Utaipei cs = new Utaipei();

                int i =3; 

                System.out.println(cs.i);  }}

(A)3
 　  (B) 2
　　　(C)0 
　　(D) null 

4.若用5位元長度之2的補數來表示十進位數值-5，應為：
   (A)10101
 (B)11011    (C)11110
    (D)11010

5.在下列位元組中，何者為奇同位編碼? 

   (A)11010100 



(B)00101000 

   (C)01110001 



(D)01101011

6.機器語言包含哪兩部分？ 

   (A)運算碼和運算元 

(B)運算子和運算元 

   (C)運算器和運算子 

(D)運算子和運算碼 

7.Ipv4位址的位元長度為：
   (A)8 位元   (B)16位元  (C)32位元
 (D)64位元
8.哪種數值表示法的 -0為111111 （假設使用6位元儲存資料）？ 

   (A)帶符號大小            (B) 1’s補數
   (C) 2’s補數




(D) BCD

9.哪一個資料的讀取速度最快 

   (A)記憶體 




(B)暫存器 

   (C)磁帶 




(D)磁碟
10. 230除以10的餘數為何？
　 (A)0 　　　　(B) 4　　　 　(C) 8　　　　(D) 6
11. In a computer, the ______ subsystem services as a manager of the 

   other subsystems.

(A)memory   (B)ALU      (C)CU       (D)CPU

12.In 2’s complement representation with a 4-bit allocation, we get 

   _____ when we add 4 to 4. 

(A)0         (B)8         (C)-8        (D)1

13.In paging, memory is divided into equally sized sections called 

   _______ and a program is divided into equally sized sections called 

   _________. 

   (A)frames, pages              (B)pages, frames

   (C)pages, pages 




(D)frames, frames
14.Pipelining improves CPU performance due to 


  (A) reducing memory access time  (B) increasing clock speed 

  (C) the introduction of parallelism 
(D) additional functional units

15.In the _____ method for synchronizing the operation of the CPU with 

   an I/O device, a large block of data can be passed from an I/O device 

   to memory directly.

(A)programmed I/O 
           (B)interrupt-driven I/O 

(C)DMA                     (D)isolated I/O
16.As shown in the following figure, PC2 is unable to access PC1. To 
troubleshoot this problem, the technician needs to confirm that the next hop interface is operational. Which default gateway address should the 

technician ping from PC2 to confirm this? 
   (A)10.0.0.254 




(B)192.168.0.249 
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   (C)10.0.1.254




(D)10.0.1.1
17. One necessary condition for deadlock is ____, which states that at 

   least one resource must be held in a non-sharable mode.

   (A) resource holding (hold and wait)  (B) mutual exclusion 

   (C) circular waiting




(D) no preemption
18. What is the output if we apply the following recursive algorithm to  

   the root of the binary tree shown below?

  
void traverse(x) {
    if(x ≠ null) {
        print x.data;


traverse(x.left);


traverse(x.right);


print x.data;

    }
}
(A) ABCDEABCDE
 (B)ABBEEDDCCA 

  (C)ABBCCDDEEA
 (D)ABBCDEEDCA 

The following questions (19-21) refer to the simple computer shown below:

19.The simple computer supports 

(A) only isolated I/O
          

(B) only memory-mapped I/O 

(C) both isolated I/O and memory mapped I/O  

(D) none of these
20.The simple computer offers a main memory of ___ bytes for storing 

programs and data. 
(A) 512 





(B) 256

(C) 254





(D) 508
21.Suppose the memory cells at addresses 00 through 04 in the machine 

contain the (hexadecimal) bit patterns shown in the Figure. If we start 

the machine with its program counter containing 00, when the 

machine halts, the bit pattern in the memory cell at address F9 is 

(A) (0000)16               (B) (1111)16 

(C) (2222)16               (D) (FFFF)16 
22.下列何種儲存記憶體在電源關閉後記憶體內容不會消失？ 

(A)RAM





(B)SRAM 

(C)DRAM




(D)Flash Memory
23.下列何者為A*(B+C/(D-E))的後序式(postfix expression)?

(A)DE-C/B+A*            (B)ABCDE-/+*

(C)DE-CB/+A*            (D)BCDE-/+A*

24.下列關於雙核心CPU的敘述，何者正確？
(A)雙核心CPU就是指加入了Hyper-Threading技術的CPU

(B)雙核心CPU是利用平行運算的概念來提高效能
(C)雙核心CPU就是32位元×2，也就是所謂的64位元CPU

(D)雙核心CPU的時脈計算方式，就是單核心的時脈×2
25. 執行下列 Visual Basic 語言片段程式的結果為何？
S = 0 

For X = 1 to 2 

For Y = 1 to 3 

S = S + 1 

Next Y 

S = S + 2 

Next X 

Print S 

(A)6        (B)8         (C)10          (D)30

二、填充題（每格2分，共16分）
1.在物件導向的程式設計的特性，最具代表性的性質由基本至複雜依
  序為          、　　　　　、　　　　　。
2.OSI標準7層網路協定架構第四層稱為傳輸層，最典型的兩種協定
  分別是           、          。
3.關於雲端運算的服務架構，由低至高為     、     、     。
三、問答題（共34分）
1. Refer to the definition of function HANOI shown below. Please trace 

the calling sequence for HANOI(3,'A','B','C' ) and show the output results.    (7分)

(hint: 畫出遞迴呼叫樹狀結構圖並依序寫出其列印結果。)
void HANOI(int n, char A, char B, char C) {
    if(n == 1) {
        printf("sheet %d  %c --> %c\n", n, A, C);
    }
    else {
        HANOI (n-1, A, C, B);
        printf("sheet %d  %c --> %c\n", n, A, C);
        HANOI (n-1, B, A, C);
    }
}

2.Floating point representation      (7分)
(1)Convert (24.875)10 in 32-bit IEEE format. 
　　                          S  Exponent  Mantissa   

S: 1bit (sign bit) 

Exponent: 8 bits (Excess_127)

Mantissa: 23 bits

   (2)Find the decimal number for (4381C000)16 represented in 32-bit  

     IEEE format. 
3.請說明”Queue”的意義是甚麼？以熟悉的電腦語言撰”Queue”，並具
Insert, Delete等功能。   (10分)
4.請說明”Single Linked List”的意義是甚麼？以熟悉的電腦語言撰寫” Single Linked List”，並具Insert, Delete等功能。   (10分)
不得使用計算機或任何儀具。





E





D





C





B





A





10F9�
00�
�
11FA�
01�
�
2FA0�
02�
�
2F91�
03�
�
0000�
04�
�
…�
�
0000�
F9�
�
1111�
FA�
�
2222�
FB�
�
FFFF�
FC�
�
FFFF�
FD�
�






10F9





Instruction�
Code�
Operands�
Action�
�
�
d1�
d2�
d3�
d4�
�
�
HALT�
0�
�
�
�
Stops the execution of the program�
�
LOAD�
1�
RD�
MS�
RD (MS�
�
STORE�
2�
MD�
RS�
MD ( RS�
�
ADDI�
3�
RD�
RS1�
RS2�
RD ( RS1 + RS2�
�
ADDF�
4�
RD�
RS1�
RS2�
RD ( RS1 + RS2�
�
MOVE�
5�
RD�
RS�
�
RD ( RS�
�
NOT�
6�
RD�
RS�
�
RD ( 1’s complement(RS)�
�
AND�
7�
RD�
RS1�
RS2�
RD ( RS1 AND RS2�
�
OR�
8�
RD�
RS1�
RS2�
RD ( RS1 OR RS2�
�
XOR�
9�
RD�
RS1�
RS2�
RD ( RS1 XOR RS2�
�
INC�
A�
R�
�
�
R ( R + 1�
�
DEC�
B�
R�
�
�
R ( R - 1�
�
ROTATE�
C�
R�
n�
0 or 1�
 Rotate right/left n bits (R)�
�
JUMP�
D�
R�
n�
If R0=R then PC=n, otherwise continue�
�
Key : RS, RS1, RS2 : Hexadecimal address of source registers


RD : Hexadecimal address of destination register


MS: Hexadecimal address of source memory location


MD: Hexadecimal address of destination memory location


n : hexadecimal number
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